

# SOME POLYGONAL NUMBER SUMMATION FORMULAS

CHARLES K. COOK AND MICHAEL R. BACON

ABSTRACT. Various relationships involving the polygonal (or figurate) numbers are investigated. Several summation formulas for the general case as well as examples of specific types of polygonal numbers are obtained.

## 1. INTRODUCTION

The  $k$ th polygonal number of rank  $r$  is given by [2, 14, 21]

$$\mathcal{P}_k^{(r)} = \frac{k[(r-2)k - (r-4)]}{2}. \tag{1.1}$$

Examples will be obtained for sums of the following polygonal numbers (listed with their respective OEIS classification numbers [10]): pentagonal: A00326 [20], hexagonal: A000384 [17], heptagonal: A000566 [16], octagonal: A000567 [19], and nonagonal: A001106 [18]. The summation formulas for powers of positive integers will be needed and can be found in various sources [6, 9, 11].

Before presenting the summation formulas we note the following interesting observations about polygonal numbers.

**Proposition 1.1.** *The polygonal numbers satisfy the recurrence relation*

$$y_{k+2} - 2y_{k+1} + y_k = r - 2.$$

*Proof.* Using the standard technique for solving recurrence relations with constant coefficients [13], with initial conditions,  $y_1 = 1$  and  $y_2 = r$  in  $y_k = C_1 + C_2k + Bk^2$  yields

$$y_k = 0 + \frac{1}{2}(4-r)k + \frac{1}{2}(r-2)k^2 = \frac{1}{2}k[(r-2)k - (r-4)]$$

which is (1.1). □

**Proposition 1.2.** *If  $n \geq 3$  then  $\sum_{k=0}^n \binom{n}{k} (-1)^{n+k} \mathcal{P}_{n+k}^{(r)} = 0$ .*

*Proof.* Using Euler's finite difference theorem, [6, 11],

$$\sum_{k=0}^n \binom{n}{k} (-1)^{n+k} k^j = \begin{cases} 0, & \text{if } 0 \leq j < n; \\ (-1)^n n!, & \text{if } j = n, \end{cases} \tag{1.2}$$

it follows that  $\sum_{k=0}^n \binom{n}{k} (-1)^{n+k} \mathcal{P}_{n+k}^{(r)}$  is given by

$$\sum_{k=0}^n \binom{n}{k} (-1)^{n+k} [(r-2)(n^2 + 2nk + k^2) - (r-4)(n+k)],$$

which yields

$$\begin{aligned}
 & [(r-2)n^2 - (r-4)n] \sum_{k=0}^n \binom{n}{k} (-1)^{n+k} k^0 + [2(r-2)n - (r-4)] \\
 & \times \sum_{k=0}^n \binom{n}{k} (-1)^{n+k} k^1 + (r-2) \sum_{k=0}^n \binom{n}{k} (-1)^{n+k} k^2 = 0.
 \end{aligned}$$

□

Additional formulas, identities, and relationships can be found in [4] and the references cited there.

We begin by presenting some general polygonal number summation formulas.

### 2. SUMMATION FORMULAS FOR POLYGONAL NUMBERS

Using (1.1) and the special cases for sums of powers of integers [6, 9, 11], the sum of the first  $n$  polygonal numbers is given by

$$\sum_{k=1}^n \mathcal{P}_k^{(r)} = \frac{n(n+1)[(r-2)n+5-r]}{6}. \tag{2.1}$$

The proof of (2.1) is routine but since it very simply illustrates how the proofs of the more complicated cases (which will not be presented due to their length) proceed, it is included here.

*Proof.*

$$\begin{aligned}
 \sum_{k=1}^n \mathcal{P}_k^{(r)} &= \frac{r-2}{2} \sum_{k=0}^n k^2 - \frac{r-4}{2} \sum_{k=0}^n k = \frac{n(n+1)[(r-2)(2n+1) - 3(r-4)]}{12} \\
 &= \frac{n(n+1)[(r-2)n+5-r]}{6}.
 \end{aligned}$$

□

Again, from (1.1) it follows that

$$(\mathcal{P}_k^{(r)})^2 = \frac{(r-2)^2 k^4 - 2(r-2)(r-4)k^3 + (r-4)^2 k^2}{4}.$$

Hence,

$$\sum_{k=1}^n (\mathcal{P}_k^{(r)})^2 = \frac{n(n+1)}{60} [3(r-2)^3 n^3 - 3(r-2)(r-7)n^2 - (2r^2 - 3r - 22)n + 2(r^2 - 9r + 19)]. \tag{2.2}$$

Next we consider the general case for powers of the polygonal numbers. The general formula for sums of powers of consecutive integers is given in terms of the Bernoulli numbers,  $B_i$  [1, 6, 7, 11, 12, 15]:

$$\begin{aligned}
 \sum_{k=1}^{n-1} k^m &= \frac{(n+B)^{m+1} - B^{m+1}}{m+1} \\
 &= \frac{n^{m+1} + \binom{m+1}{1} n^m B + \dots + \binom{m+1}{m} n B^m}{m+1},
 \end{aligned} \tag{2.3}$$

THE FIBONACCI QUARTERLY

where the symbolic operator,  $B^i$  is replaced by the Bernoulli number,  $B_i$  [12]. Note that  $B_1 = \frac{-1}{2}, B_{2i+1} = 0$ , for  $i \geq 1$ ; and  $B_{2i} \in \left\{1, \frac{1}{6}, \frac{-1}{30}, \frac{1}{42}, \dots\right\}$  for  $i \geq 0$ .

To obtain the sum of the general powers of polygonal numbers, first note that

$$\begin{aligned} (\mathcal{P}_k^{(r)})^m &= \frac{k^m [(r-2)k - (r-4)]^m}{2^m} \\ &= \left(\frac{k}{2}\right)^m \sum_{j=0}^m \binom{m}{j} (-1)^j (r-2)^{m-j} (r-4)^j k^{m-j}. \end{aligned} \tag{2.4}$$

Thus,

$$\begin{aligned} \sum_{k=1}^n (\mathcal{P}_k^{(r)})^m &= \sum_{k=1}^n \left(\frac{k}{2}\right)^m \sum_{j=0}^m \binom{m}{j} (-1)^j (r-2)^{m-j} (r-4)^j k^{m-j} \\ &= \frac{1}{2^m} \sum_{j=0}^m \binom{m}{j} \frac{(-1)^j (r-2)^{m-j} (r-4)^j}{2m+1-j} \\ &\quad \times \sum_{i=0}^{2m+1-j} \binom{2m+1-j}{i} (n+1)^{2m+1-j-i} B_i. \end{aligned} \tag{2.5}$$

Next from (1.1)

$$\mathcal{P}_{mk+j}^{(r)} = \frac{(mk+j)[(r-2)(mk+j) - (r-4)]}{2}. \tag{2.6}$$

So it follows that

$$\begin{aligned} \sum_{k=1}^n \mathcal{P}_{mk+j}^{(r)} &= \frac{(r-2)m^2}{6} n^3 + \frac{(r-2)m^2 + 2(r-2)mj - (r-4)m}{4} n^2 \\ &\quad + \frac{(r-2)m^2 + 6(r-2)mj + 6(r-2)j^2 - 3(r-4)m - 6(r-4)j}{12} n. \end{aligned} \tag{2.7}$$

In the interest of brevity, next we let

$$\begin{aligned} A &= (r-2)^2, \\ B &= 2(r-2)[(r-2)(M+N) - (r-4)], \\ C &= (r-2)^2(M^2 + 4MN + N^2) - 3(r-2)(r-4)(M+N) + (r-4)^2, \\ D &= 2(r-2)^2MN(M+N) - (r-2)(r-4)(M^2 + 4MN + N^2) + (r-4)^2(M+N), \text{ and} \\ E &= (r-2)^2M^2N^2 - (r-2)(r-4)MN(M+N) + (r-4)^2MN. \end{aligned}$$

Then,

$$\mathcal{P}_{k+M}^{(r)} \mathcal{P}_{k+N}^{(r)} = \frac{Ak^4 + Bk^3 + Ck^2 + Dk + E}{4}. \tag{2.8}$$

Hence,

$$\begin{aligned} \sum_{k=1}^n \mathcal{P}_{k+M}^{(r)} \mathcal{P}_{k+N}^{(r)} &= \sum_{k=1}^n \frac{Ak^4 + Bk^3 + Ck^2 + Dk + E}{4} \\ &= \frac{12An^5 + 15(2A + B)n^4 + 10(2A + 3B + 2C)n^3}{240} \\ &\quad + \frac{15(B + 2C + 2D)n^2 + 2(-A + 5C + 15D + 30E)n}{240}. \end{aligned} \tag{2.9}$$

We now present summation formulas for the pentagonal numbers.

### 3. PENTAGONAL NUMBERS

Setting  $r = 5$  in (1.1) the pentagonal numbers are obtained

$$\mathcal{P}_k^{(5)} = P_k = \frac{k(3k - 1)}{2}, \{1, 5, 12, 22, 35, 51, \dots\},$$

and from (2.1) the sum of the pentagonal numbers is found to be

$$\sum_{k=1}^n P_k = \frac{n^2(n + 1)}{2}, \{1, 6, 18, 40, 75, 126, \dots\}.$$

Since

$$P_k^2 = \frac{k^2(9k^2 - 6k + 1)}{4},$$

it follows that

$$\sum_{k=1}^n P_k^2 = \frac{n(n + 1)(27n^3 + 18n^2 - 13n - 2)}{60}, \{1, 26, 170, 654, 1879, 4480, \dots\}.$$

Also, (2.4) yields

$$P_k^m = \frac{k^m(3k - 1)^m}{2^m} = \left(\frac{k}{2}\right)^m \sum_{j=0}^m \binom{m}{j} (-1)^j 3^{m-j} k^{m-j},$$

and so (2.5) yields

$$2^m \sum_{k=1}^n P_k^m = \sum_{k=1}^n k^m (3k - 1)^m = \sum_{k=1}^n \sum_{j=0}^m \binom{m}{j} (-1)^j 3^{m-j} k^{2m-j}.$$

Cubing (1.1) with  $r = 5$  yields

$$P_k^3 = \frac{k^3(27k^3 - 27k^2 + 9k - 1)}{8}.$$

So,

$$\begin{aligned} \sum_{k=1}^n P_k^3 &= \frac{n(n + 1)(135n^5 + 180n^4 - 117n^3 - 128n^2 + 58n + 12)}{280}, \\ &\quad \{1, 126, 1854, 12502, 55377, 188028, \dots\}. \end{aligned} \tag{3.1}$$

THE FIBONACCI QUARTERLY

Using (2.5) is routine but cumbersome. So details of the proofs are omitted. However, to illustrate the process, an abbreviated outline of the derivation of (3.1) is provided.

*Outline of Proof for (3.1):*

$$\begin{aligned} \sum_{k=1}^n P_k^3 &= \frac{1}{8} \sum_{j=0}^3 \binom{3}{j} \frac{(-1)^j 3^{3-j}}{7-j} \sum_{i=0}^7 \binom{7-j}{i} (n+1)^{7-j-i} B_i \\ &= \frac{27}{56} \sum_{i=0}^7 \binom{7}{i} (n+1)^{7-i} B_i - \frac{9}{16} \sum_{i=0}^6 \binom{6}{i} (n+1)^{6-i} B_i \\ &\quad + \frac{9}{40} \sum_{i=0}^5 \binom{5}{i} (n+1)^{5-i} B_i - \frac{1}{32} \sum_{i=0}^4 \binom{4}{i} (n+1)^{4-i} B_i, \end{aligned}$$

which yields (3.1). □

Next letting  $m = 2$ ,  $j = 0$ , and  $j = -1$  in (2.7) yields, respectively,

$$\sum_{k=1}^n P_{2k} = \frac{n(n+1)(4n+1)}{2}, \{5, 27, 78, 170, 315, 525, \dots\},$$

and

$$\sum_{k=1}^n P_{2k-1} = \frac{n(4n^2 - n - 1)}{2}, \{1, 13, 48, 118, 235, 411, \dots\}.$$

Some identities for  $P_{3k+j}$  were obtained in [8] but here (2.7) is applied. So if  $m = 3$ ,  $j = 0$ , and  $j = -1$  then

$$\sum_{k=1}^n P_{3k} = \frac{3n(n+1)(3n+1)}{2}, \{12, 63, 180, 390, 720, 1197, \dots\}$$

and

$$\sum_{k=1}^n P_{3k-1} = \frac{n(3n-1)(3n+2)}{2}, \{5, 40, 132, 308, 595, 1020, \dots\}.$$

Setting  $r = 5$ ,  $m = 3$ , and  $j = 2$  in (2.7) yields

$$\sum_{k=1}^n P_{3k-2} = \frac{n(9n^2 - 6n - 1)}{2}, \{1, 23, 93, 238, 485, 861, \dots\}.$$

Again, in the interest of brevity, we let

$$\begin{aligned} A &= 18M + 18N - 6, \\ B &= 9M^2 + 36MN + 9N^2 - 9M + 1, \\ C &= 18M^2N + 18MN^2 - 3M^2 - 12MN - 3N^2 + M + N, \text{ and} \\ D &= 9M^2N^2 - 3M^2N - 3MN^2 + MN. \end{aligned}$$

Then

$$P_{k+M}P_{k+N} = \frac{9k^4 + Ak^3 + Bk^2 + Ck + D}{4}.$$

So,

$$\begin{aligned} \sum_{k=1}^n P_{k+M}P_{k+N} &= \frac{9}{20}n^5 + \frac{18+A}{16}n^4 + \frac{18+3A+2B}{24}n^3 \\ &+ \frac{A+2B+2C}{16}n^2 + \frac{-9+5B+15C+30D}{120}n. \end{aligned}$$

Hence,

$$P_k P_{k+1} = \frac{k(k+1)(3k+2)(3k-1)}{4}$$

and

$$\begin{aligned} \sum_{k=1}^n P_k P_{k+1} &= \frac{n(n+1)(54n^3 + 171n^2 + 109n - 34)}{120}, \\ &\{5, 65, 329, 1099, 2884, 6454, \dots\}. \end{aligned}$$

We conclude with some further examples.

#### 4. SUMMATION FORMULAS FOR ADDITIONAL POLYGONAL NUMBERS

Substituting the appropriate value of  $r$  in the general polygonal number formula (1.1) and using the various identities developed in Section 2, the following identities are obtained.

##### Hexagonal Numbers

$$\begin{aligned} \mathcal{P}_k^{(6)} = H_k &= k(2k-1), & \{1, 6, 15, 28, 45, 66, \dots\} \\ \sum_{k=1}^n H_k &= \frac{n(n+1)(4n-1)}{6}, & \{1, 7, 22, 50, 95, 161, \dots\} \\ \sum_{k=1}^n H_k^2 &= \frac{n(n+1)(24n^3 + 6n^2 - 16n + 1)}{30}, & \{1, 37, 262, 1046, 3071, 7427, \dots\} \\ \sum_{k=0}^n H_k H_{k+1} &= \frac{n(n+1)(4n^3 + 11n^2 + 4n - 4)}{5}, & \{6, 96, 516, 1776, 4746, 10752, \dots\}. \end{aligned}$$

##### Heptagonal Numbers

$$\begin{aligned} \mathcal{P}_k^{(7)} = h_k &= \frac{k(5k-3)}{2}, & \{1, 7, 18, 34, 55, 81, \dots\} \\ \sum_{k=1}^n h_k &= \frac{n(n+1)(5n-2)}{6}, & \{1, 8, 26, 60, 115, 196, \dots\} \\ \sum_{k=1}^n h_k^2 &= \frac{n(n+1)(15n^3 - 11n + 2)}{12}, & \{1, 50, 374, 1530, 4555, 11116, \dots\} \\ \sum_{k=0}^n h_k h_{k+1} &= \frac{n(n+1)(30n^3 + 75n^2 + 13n - 34)}{24}, & \{7, 133, 745, 2615, 7070, 16142, \dots\}. \end{aligned}$$

**Octagonal Numbers**

$$\mathcal{P}_k^{(8)} = O_k = k(3k - 2), \quad \{1, 8, 21, 40, 65, 96, \dots\}$$

$$\sum_{k=1}^n O_k = \frac{n(n+1)(2n-1)}{2}, \quad \{1, 9, 30, 70, 135, 231, \dots\}$$

$$\sum_{k=1}^n O_k^2 = \frac{n(n+1)(54n^3 - 9n^2 - 41n + 11)}{30}, \quad \{1, 65, 506, 2106, 6331, 15547, \dots\}$$

$$\sum_{k=0}^n O_k O_{k+1} = \frac{n(n+1)(27n^3 + 63n^2 + 2n - 32)}{15}, \quad \{8, 176, 1016, 3616, 9856, 22624, \dots\}.$$

**Nonagonal Numbers**

$$\mathcal{P}_k^{(9)} = N_k = \frac{k(7k - 5)}{2}, \quad \{1, 9, 24, 46, 75, 111, \dots\}$$

$$\sum_{k=1}^n N_k = \frac{n(n+1)(7n-4)}{6}, \quad \{1, 10, 34, 80, 155, 266, \dots\}$$

$$\sum_{k=1}^n N_k^2 = \frac{n(n+1)(147n^3 - 42n^2 - 113n + 38)}{60}, \quad \{1, 82, 658, 2774, 8399, 20720, \dots\}$$

$$\sum_{k=0}^n N_k N_{k+1} = \frac{n(n+1)(98n^3 + 217n^2 - 17n - 118)}{40}, \quad \{9, 225, 1329, 4779, 13104, 30198, \dots\}.$$

5. CONCLUDING REMARKS

More identities would undoubtedly arise using the above methods and the generating function for the polygonal numbers,  $\mathcal{P}^{(r)}(x) = (x[(r-3)x+1])/(1-x)^3$  [21]. Also the case of infinite reciprocal sums has been addressed in general in [5] and specifically for some triangle number patterns in [3]. However the authors believe that specific examples of sums of reciprocals of various polygonal numbers as well as identities for finite sums are worth further investigation.

6. ACKNOWLEDGMENTS

The authors would like to thank Editor Cooper and the anonymous referee for the careful reading and many comments which helped to improve the appearance and structure of this paper.

REFERENCES

- [1] M. Abramowitz and I. A. Stegun (Eds.), *Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables*, New York: Dover Publications, 1972.
- [2] A. H. Beiler, *Recreations in the Theory of Numbers*, Dover Publications, 1966.
- [3] P. Bruckman, J. B. Dence, T. P. Dence, and J. Young, *Series of Reciprocal Triangular Numbers*, The College Mathematics Journal, **44.3** (2013), 177–184.
- [4] L. E. Dickson, *History of the Theory of Numbers, Volume II: Diophantine Analysis*, Dover Publications, 2005.
- [5] C. Efthimiou, *Finding Exact Values for Infinite Sums*, Apr 1998, arXiv:math-ph/980401v1.
- [6] H. W. Gould, *Combinatorial Identities*, Rev. Ed., Published by the author, Morgantown, W. Va., 1972.
- [7] H. S. Hall and S. R. Knight, *Higher Algebra*, Macmillan & Co. Ltd., London 1960.

## SOME POLYGONAL NUMBER SUMMATION FORMULAS

- [8] R. T. Hansen, *Arithmetic of pentagonal numbers*, The Fibonacci Quarterly, **8.1** (1970), 83–87.
- [9] L. B. W. Jolley, *Summation of Series*, Dover Publications, 1961.
- [10] OEIS Foundation Inc. (2011), The On-Line Encyclopedia of Integer Sequences, <http://oeis.org>.
- [11] J. Quaintance and H. W. Gould, Unpublished manuscript notebooks (1945-1990) of H. W. Gould. Edited and compiled by J. Quaintance, 2010. <http://www.math.wvu.edu/gould/>, 2010.
- [12] C. W. Richardson, *An Introduction to the Calculus of Finite Differences*, Van Nostrand, New York, 1954.
- [13] K. H. Rosen, *Discrete Mathematics and Its Applications*, McGraw Hill, New York, 2007.
- [14] J. V. Uspensky and M. A. Heaslet, *Elementary Number Theory*, McGraw Hill, Inc., New York, 1939.
- [15] E. W. Weisstein, *Bernoulli Numbers*. <http://mathworld.wolfram.com/BernoulliNumber.html>.
- [16] E. W. Weisstein, *Heptagonal Number*. <http://mathworld.wolfram.com/HeptagonalNumber.html>.
- [17] E. W. Weisstein, *Hexagonal Number*. <http://mathworld.wolfram.com/HexagonalNumber.html>.
- [18] E. W. Weisstein, *Nonagonal Number*. <http://mathworld.wolfram.com/NonagonalNumber.html>.
- [19] E. W. Weisstein, *Octagonal Number*. <http://mathworld.wolfram.com/OctagonalNumber.html>.
- [20] E. W. Weisstein, *Pentagonal Number*. <http://mathworld.wolfram.com/PentagonalNumber.html>.
- [21] E. W. Weisstein, *Polygonal Number*. <http://mathworld.wolfram.com/PolygonalNumber.html>.

MSC2010: 11B25, 11Z05, 97F60

EMERITUS, UNIVERSITY OF SOUTH CAROLINA-SUMTER, SUMTER, SC

*E-mail address:* [charliecook29150@aim.com](mailto:charliecook29150@aim.com)

SAINT LEO UNIVERSITY - SHAW CENTER, SUMTER, SC

*E-mail address:* [baconmr@gmail.com](mailto:baconmr@gmail.com)